
                

                            NORDCO  AFTERMARKET PARTS SPARE PARTS 

© Nordco Inc. All Rights Reserved 2011 July, 2011 

SUN SHADE KITS FOR NORDCO MAINTENACE-OF-WAY MACHINES 

Nordco Part #:  98310104  
STANDARD CAB  
7 WINDOW SUN SHADE KIT 

Nordco Part #:  98310105 
EXTENDED CAB  
9 WINDOW SUN SHADE KIT 

Nordco Part #:  98410255 
4 WINDOW CAB SUN SHADE KIT 

IN
C

L
U

D
E

S
 

IN
C

L
U

D
E

S
 

IN
C

L
U

D
E

S
 

IN
C

L
U

D
E

S
 

Nordco Part #:  98760246 
3 WINDOW CAB SUN SHADE KIT 

Nordco Sun Shade Kits help shield machine operators from heat and glare inside the cab.  Mylar shades are 
tinted on inside surface and coated with reflective material on the outside.  Shades are encased in sturdy black 
anodized aluminum housings.  Kits include installation instructions and all mounting hardware.  One kit 
required per machine.   

www.nordco.com 
 

NORDCO     245 W. Forest Hill Ave.      Oak Creek, WI  531154  USA    414-766-2180   Fax  414-766-2379 

Nordco P/N Qty Description  Location 
640064 3 SHADE, SUN, 29" W X 42" L REAR WINDOW 
640262 4 SHADE, SUN 21" w x 40" L SIDE WINDOW 
660246 1 KIT, RACE SIDE DOORS  

2663431 12 BOLT,SHOULDER 5/16 X 1/2 LG  
2663451 4 BOLT, SHOULDER 5/16 x 1-1/2 LG  
2774271 16 CPSCR HX 1/4-20 X 3/4  
3042013 32 LOCNUT HEX 1/4-20  
3060464 16 WASHER SAE .250  
2774301 4 CPSCR HX .25X1.5  
3001018 12 NUT HEX .312-18  

Nordco P/N Qty Description  Location 
640064 3 SHADE, SUN, 29" W X 42" L REAR WINDOW 
640262 4 SHADE, SUN 21" w x 40" L FRONT & MIDDLE SIDE WINDOW 
640275 2 SHADE, SUN 33"W x 42"L SIDE REAR WINDOW 
660246 1 KIT, RACE SIDE DOORS  

2663431 16 BOLT,SHOULDER 5/16 X 1/2 LG  
2663451 4 BOLT, SHOULDER 5/16 x 1-1/2 LG  
2774271 20 CPSCR HX 1/4-20 X 3/4  
3042013 40 LOCNUT HEX 1/4-20  
3060464 20 WASHER SAE .250  
2774301 4 CPSCR HX .25X1.5  
3001018 12 NUT HEX .312-18  

Used on: 
SP2R Two Rail Spike Puller Standard Cab 
NSCA Spring Clip Applicator 
NVCAR V-Clip Applicator/Remover 
 

 
 

 

 

 

 

  

Used on: 
SP2R Two Rail Spike Puller Extended Cab   

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 

 

  

Nordco P/N Qty Description  Location 
22233111 2 SHADE,SUN 22.00 X 50.00 REAR WINDOW 
22233126 2 SHADE,SUN 27W X 50L GRAY GOLD UPPER DOOR WINDOW 
3114192 10 SCREW,TAPPING #8-3/8 HEX FL HD  
2774531 9 CPSCR HX .312X1  
3060467 17 WASHER SAE .312  
3042016 17 LOCNUT HEX 5/16-18  

Nordco P/N Qty Description  Location 
22233112 2 SUN SHADE,20.25 W X 36.00 L SIDE WINDOW 
22233113 1 SHADE,SUN LH 52.75W X 32.75LG REAR WINDOW 
3114192 14 SCREW,TAPPING #8-3/8 HEX FL HD  

8026001 7 HOOK,S Ø.06  

Used on:  CX Hammer with Cab 
Nipper Clipper 
AK-67 with Standard Cab 

 
 

  

Used on:  TRIPP Tie Exchanger 

  



IN
C

L
U

D
E

S
 

Nordco Part #:  98690028 
CAB 5-WINDOW SUN SHADE KIT 

IN
C

L
U

D
E

S
 

Nordco Part #:  98670017 
EXTENDED CAB  
8-WINDOW SUN SHADE KIT 

Nordco Parts 
800-647-1724 

www.nordco.com 
 

NORDCO     245 W. Forest Hill Ave.      Oak Creek, WI  531154  USA    414-766-2180   Fax  414-766-2379 

SHADE KITS FOR NORDCO MAINTENANCE-OF-WAY MACHINES 

Nordco P/N Qty Description  Location 
22233113 1 SHADE,SUN LH 52.75W X 32.75LG BEHIND OPERATOR 
22233127 1 SHADE,SUN BAAM FRONT WINDOW FACING BULK BIN 
22233128 1 SHADE,SUN BAAM RH WINDOW FACING WORKHEAD 
22233129 1 SHADE,SUN BAAM REAR FIXED ALONGSIDE DOOR 
22233134 1 SHADE,SUN BAAM DOOR DOOR 
3114192 10 SCREW,TAPPING #8-3/8 HEX FL HD  
2774551 9 CPSCR HX .312X1.5  
3060467 17 WASHER SAE .312  
3001016 9 NUT HEX .312-18  
3042016 9 LOCNUT HEX 5/16-18  
13710003 1 BAR,SHADE HOLDDOWN  
2774531 3 CPSCR HX .312X1  
3060467 9 WASHER SAE .312  
3042016 5 LOCNUT HEX 5/16-18  
2774551 3 CPSCR HX .312X1.5  
3027176 3 NUT,HEX JAM 5/16-24 RH  
13121818 1 BAR,FLAT 1/4THK X 1 X 19.0  
2837625 5 MACHINE SCREW #10X.62  
3060458 9 WASHER SAE .188 (#10)  
3064458 5 WASHER LOCK #10  
3048042 5 NUT HEX #10-24  

Used on:  BAAM Anchor Applicator 

 
 
 
 

 

 

 
 

 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 
 

 

 

 

 

 
 

 

 

 

 
 

 

 

 

 

 

 
 
 

 

 

 

 

Nordco P/N Qty Description  Location 

22233126 4 SHADE,SUN 27W X 50L GRAY GOLD 2 DOOR, 2 REAR WINDOW 
22233131 2 SHADE,SUN AK67/CX SIDE WINDOW SMALL SIDE WINDOW 
22233132 2 SHADE,SUN AK67 LRG SIDE WINDOW LARGE SIDE WINDOW 
3114192 18 SCREW,TAPPING #8-3/8 HEX FL HD  
2774531 17 CPSCR HX .312X1  
3060467 34 WASHER SAE .312  
3042016 34 LOCNUT HEX 5/16-18  

Used on:   
AK-67 Anchor Remover with Extended Cab 

 
 
 
 
 
 
 
 

 
 


